DR. PANJABRAO DESHMUKH KRISHI VIDYAPEEETH, P.O.KRISHI NAGAR, AKOLA - 444 104 MAHARASHTRA (INDIA)

RESULT NOTIFICATION

Dated: 24 / 10 /2009

The following students have successfully completed the course requirements for the degree of Master of Science (Agriculture) evaluated through the course credit system of education and examination held in the month of October, 2009. Therefore, in accordance with the provision of para No.33, read with para No.30 (A) (IV) of Regulation No. AC/8 on approval of the Vice-Chancellor, they are declared eligible for the award of degree of Master of Science (Agriculture). The minimum required cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

Sr.	Enrol.	Name of the candidate and his	Subject of	Title of dissertation	Total grade/	C.G.	Division	No.	Ref. of
No.	No.	guide	specialization		points/credit	P.A.		of	'F'
								'F'	Reg.
		College of Agriculture, Nagpur	•						
180	BB/363	Dhok Swati Punjaram	Soil Science	EFFECT OF NUTRIENT	332.5/41	8.11	First	Nil	39/21
		(Guide:- Shri. R. M. Ghodpage)	and Agril.	MANAGEMENT MODULES ON SOIL					
			Chemistry	MICROBIOTA, NUTRIENT UPTAKE					
				AND CROP PRODUCTIVITY UNDER					
				SOYBEAN BASED CROPPING SYSTEM					
181	FF/1209	Giri Jaya Narayanrao	Soil Science	SHRINK-SWELL PROPERTIES OF	335.0/41	8.17	First	Nil	40/21
		(Guide:- Dr. P. R. Kadu)	and Agril.	SOME VERTISOLS OF WARDHA					
			Chemistry	VALLEY AS INFLUENCED BY CANAL					
				IRRIGATION					

MASTER OF SCIENCE (AGRICULTURE)

No. ECR / 7 / 13 /2009

MASTER OF SCIENCE (AGRICULTURE)

182	BB/713	Nikas Nitin Shivaji	Soil Science	SOIL CHARACTERIZATION, LEAF	330.8/41	8.07	First	Nil	44/21
		(Guide: Shri. W. P Badole)	and Agril.	NUTRIENT STATUS, FRUIT QUALITY					
			Chemistry	AND YIELD OF PAPAYA GROWN IN					
				NAGPUR AND WARDHA DISTRICTS					
183	FF/1214	Mohasin Rashid Shaikh	Agril.	ECONOMIC ANALYSIS OF SELECTED	264.4/35	7.55	First	Nil	45/21
		(Guide:- Shri. N T Bagde)	Economics	ACTIVITIES OF SELF HELP GROUPS IN					
				NAGPUR DISTRICT					
		Post Graduate Institute, Akola							
184	BB/660	Zambre Supriya Manohar	Agril.	EFFECT OF DESICCATION ON	289.0/37	7.81	First	R/1	68/40
		(Guide:- Dr. E. R. Vaidya)	Biotechnology	CALLUS CULTURES IN COTTON					

DR. PANJABRAO DESHMUKH KRISHI VIDYAPEEETH, P.O.KRISHI NAGAR, AKOLA - 444 104 MAHARASHTRA (INDIA)

RESULT NOTIFICATION

Dated: 28 /10/2009

The following students have successfully completed the course requirements for the degree of Master of Science (Agriculture) evaluated through the course credit system of education and examination held in the month of October, 2009. Therefore, in accordance with the provision of para No.33, read with para No.30 (A) (IV) of Regulation No. AC/8 on approval of the Vice-Chancellor, they are declared eligible for the award of degree of Master of Science (Agriculture). The minimum required cumulative Grade Point Average to successfully complete the programme is 6.50 in 10.00 point scale.

Sr.	Enrol.	Name of the candidate and his	Subject of	Title of dissertation	Total grade/	C.G.	Division	No.	Ref. of
No.	No.	guide	specialization		points/credit	P.A.		of	'F'
					-			'F'	Reg.
		College of Agriculture, Nagpur							
185	BB/131	Mali Vijay Shrikrishna	Agril.	MANAGEMENT OF ROSE THRIPS,	287.7/36	7.99	First	R /1	16/21
		(Guide:- Shri. R. W. Gawande)	Entomology	Rhipiphorothrips cruentatus Hood. UNDER					
				POLYHOUSE CONDITION					
186	BB/600	Kadam Mahesh Mahadeo	Agril.	IMPACT OF WATERSHED PROJECT	292.7/35	8.36	First	Nil	48/21
		(Guide:- Shri. B. N. Ganvir)	Economics	ON FARMERS' ECONOMY IN NAGPUR					
				DISTRICT					
187	AA/372	Katkar Vaishali Damu	Extension	KNOWLEDGE AND BENEFITS	307.3/37	8.31	First	Nil	54/21
		(Guide:- Dr. D. M. Lanjewar)	Education	RECEIVED TO THE FARMERS FROM					
				NATIONAL HORTICULTURE MISSION					

MASTER OF SCIENCE (AGRICULTURE)

No. ECR / 7 / 14 /2009

MASTER OF SCIENCE (AGRICULTURE)

188	FF/1204	Jadhav Anil Jagannath (Guide:- Dr. G. R. Tidke)	Extension Education	PERCEPTION AND PARTICIPATION OF RURAL YOUTH IN ADARSH GAON YOJANA	305.1/37	8.25	First	Nil	55/21
189	AA/80	Dhote Deepa Dnyaneshwarrao (Guide:- Dr. D. M. Lanjewar)	Extension Education	FEEDBACKOFFARMERSPARTICIPATINGINDR.PDKVKRISHAKVIGYANMANCHPROGRAMME	297.0/37	8.03	First	Nil	63/21